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0.1
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0.2
0.2
0.2
0.2
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0.5
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0.5
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0.05,0.2
0.05,0.2
0.05,0.2
0.05,0.2
0.05,0.5
0.05,0.5
0.05,0.5
0.05,0.5
0.05,0.5

,\,\,\,\,\

,\,\,\,\,\,\,\,\,\,\
—_— T I I I = = = = =

1

*0.00000
*0.01140
0.01071
*0.02813
*0.01119
*0.00709
0.02345
0.04059
0.06296
0.03357
0.03579
0.06359
0.06319
0.05506
0.03403
0.06406
0.04705
0.04404
0.05005
0.04304
0.03273
0.03623
0.04782
0.07385
0.04146
0.06376
0.03282
0.02981
0.02994
0.03729
*0.24921
0.07204
*0.01624
0.03114
0.03616

1= 2=50
2

0.02693
*0.00893
*0. 591
*0.00470
*0.000
*0.01827
0.03726
0.04873
0.03115
*0. 285
0.05205
0.07 8
0.07207
0.04708
*0.00499
0.06406
0.05 5
0.04805
0.05205
*0.01548
0.03216
0.05025
0.04844
0.05207
*0.00429
¢ 0. 871
0.04339
0.03403
*0.01904
*0.000
**0.10664
**0.10688
0.02634
*0.01887
*0.000

3

*0. 372
*0.01046
*0.02160
*0.01186
*0. 775
*0.01370
0.03260
0.03692
0.03182
0.01412
0.04728
0.047
0.05105
0.04472
*0.01674
0.059
0.054
0.053
0.059
0.02663
**0.23579
**0.28226
*¥*0.23423
**0.20672
**0.167
**0.61099
**0.65061
% 0.59263
¥*0.53348
**0.47357
¥*1.000
**1.000
¥*1.000
**1.000
**0.99834
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P.

0.05
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0.05
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0.2
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0.1,0.2
0.1,0.2
0.1,0.2
0.1,0.2
0.05,0.2
0.05,0.2
0.05,0.2
0.05,0.2
0.05,0.2
0.05,0.5
0.05,0.5
0.05,0.5
0.05,0.5
0.05,0.5

A,\A,_\A
—_—— = — =

AAAAAAA,_\,_.,_.
—_— e = = I ===

1

*0.00370
*0.01854
*0.02389
0.05735
0.03850
*0.01736
0.04361
0.06332
0.07007
0.03103
0.05226
0.05405
0.06607
0.05405
0.05806
0.05305
0.04805
0.04505
0.04805
0.04705
0.03725
0.05199
0.05115
0.06807
0.03904
0.05253
0.04704
0.03069
0.04077
0.05427
¥*0.26019
0.07358
0.03915
0.04791
0.05226

«l1=«2=100

2

*0.01414
*0.01719
0.03441
0.03838
*0.00272
0.03303
0.05405
0.06507
0.06231
*0.00545
0.05906
0.06106
0.06306
0.05405
*0.01768
0.05405
0.05005
0.04705
0.04805
0.04069
0.04304
0.06607
0.05606
0.06834
*0.01134
0.02538
0.06054
0.03935
0.03280
*0. 675
**0.09340
0.06963
0.06660
0.05241
*0. 318

3

*0.01040
*0.02155
0.02648
*0.02128
*0.01709
0.03351
0.043
0.035
0.03424
*0.02436
0.043
0.041
0.051
0.049
0.03471
0.055
0.046
0.047
0.051
0.04786
**0.550
**0.575
**0.472
**0.43744
**0.37984
**0.95591
¥*0.96997
**0.94094
**0.89379
**0.86115
¥*1.000
¥*1.000
¥*1.000
¥*1.000
¥*1.000
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4.6 1
«1=50 «2=100

K«=K@ W=5  2=100

1 2 3
0.1 0.05 %0.00592 *0.01263 v 001392
03 0.05 %0.00823 *0.01672 0.02871
05 0.05 %0.01615 %0.01950 0.04219
0.7 0.05 0.04172 %0.01376 %0.02171
0.9 0.05 0.03982 *0.00000 0.02917
0.1 0.1 %0.02202 0.02714 0.03375
0.3 0.1 0.04485 0.06054 0.05010
05 0.1 0.06365 0.07482 0.05205
0.7 0.1 0.04883 0.04242 0.04179
0.9 0.1 *0,02422 %0.00186 %0.01947
0.1 0.2 0.04792 0.06206 0.05105
03 0.2 0.05268 0.07307 0.04700
05 0.2 0.05405 0.06907 0.04500
0.7 0.2 0.06807 0.05685 0.05305
0.9 0.2 0.04104 %0.01290 0.03632
0.1 05 0.06206 0.06406 0.058
0.3 0.5 0.05005 0.05806 0.063
0.5 05 0.04805 0.05305 0.066
0.7 05 0.06306 0.07121 0.053
0.9 05 0.03904 0.02527 0.05620
0.1 (01,0.2) 0.05153 0.03819 *40.26326
0.3 (01,0.2) 0.04529 0.06357 *£0.310
05 (01,0.2) 0.03437 0.05460 *40.241
0.7 (01,0.2) 0.05595 0.05385 *0.19196
0.9 (01,0.2) 0.03633 *0.00168 *4(0.17224
0.1 (0.05,0.2) *40.07716 0.04777 %40 .667
03 (0.05,0.2) 0.03972 *%0.07653 *(0.75776
05 (0.05,0.2) *0.02462 0.04726 *4(0.66867
0.7 (0.05,0.2) 0.02647 *0.01277 *4(0.56566
0.9 (0.05,0.2) 0.04612 %0.00000 *%0.49793
0.1 (0.05,0.5) #40.30769 *(0.13707 *1.000
0.3 (0.05,0.5) *0.90328 *%0.11892 % 1,000
05 (0.05,0.5) %0.00821 0.03652 *1.000
0.7 (0.05,0.5) %0.01564 *0.01533 *1.000
0.9 (0.05,0.5) 0.04724 %0.00000 *1.000
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0.7
0.9
0.1
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0.7
0.9
0.1
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0.7
0.9
0.1
0.3
.05
0.7
0.9
0.1
0.3
05
0.7
0.9

«1=«2=300
ph

0.05
0.05
0.05
0.05
0.05
0.1
0.1
0.1
0.1
0.1
0.2
0.2
0.2
0.2
0.2
0.5
05
0.5
0.5
05
0.1,0.2
0.1,0.2
0.1,0.2
0.1,0.2
0.1,0.2
0.05,0.2
0.05,0.2
0.05,0.2
0.05,0.2
0.05,0.2
0.05,0.5
0.05,0.5
0.05,0.5
0.05,0.5
0.05,0.5
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1

0.02778
0.06193
0.06231
0.06707
0.05405
0.05561
0.06607
0.06006
0.05606
0.04404
0.04204
0.04805
0.04204
0.05405
0.04204
0.05706
0.04805
0.05706
0.05305
0.04805
0.04824
0.05906
0.05506
0.07207
0.05105
0.03247
0.05651
0.05717
0.06106
0.05706
**0.21613
**0.09082
0.05517
0.06406
0.05806

«1=«2=300
2

0.03203
0.06707
0.06106
0.06006
*0.01676
0.05906
0.06807
0.05205
0.04505
0.03134
0.04204
0.04404
0.04104
0.05005
0.04104
0.05706
0.04805
0.05706
0.05405
0.04805
0.06907
0.06006
0.05305
0.06507
0.04915
0.05305
0.05906
0.05706
0.06406
0.03175
**0.08308
**0.08809
0.06306
0.05806
0.04021
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3

0.02968
0.04600
0.04400
0.02700
*0.02135
0.04400
0.053
0.046
0.039
0.02727
0.049
0.053
0.052
0.056
0.040
0.056
0.056
0.057
0.054
0.049
¥*0.986
**0.987
**¥0.950
¥+0.922
**0.87487
¥*1.000
¥+1.000
¥*1.000
¥*1.000
¥+1.000
¥*1.000
**1.000
¥*1.000
¥*1.000
¥*1.000
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(0036)

(0036)

Ko,
0.3

0.3
0.3
0.3
0.3
03
03
0.3
03
0.3
03
0.3
03
03

Ko,
0.7

0.7
0.7
0.7
0.7
0.7
0.7
0.7
0.7

4.8

4.9

Ko,
0.1

0.1
0.1
01
0.5
0.5
0.5
0.5
0.5
0.7
0.7
0.7
0.7
0.7

K@
0.1

0.1
0.1
0.1
0.5
0.5
0.5
0.5
0.5

0.05

0.05

0.2
0.5
0.1
0.2
01
0.2
0.5
01
0.2
01
0.2
0.5
0.1
0.2

0.2
0.5
01
0.2
01
0.2
0.5
01
0.2

n2
0.2
0.5
0.2
01
01
0.2
0.5
0.2
01
0.1
0.2
0.5
0.2
0.1

p2
0.2
0.5
0.2
01
0.1
0.2
0.5
0.2
0.1

Power |

0.07082
0.16316
0.06266
0.02544
0.04540
0.12818
0.19820
0.05463
0.10140
0.18061
0.40406
0.67367
0.21352
0.28245

Power |

0.52910
0.92593
0.38286
0.30203
0.12214
0.18857
0.21922
0.12539
0.15655

Power_2 Poiwer_3

0.09610
0.16717
0.08040
0.03027
0.04752
0.14615
0.20721
0.G6231
0.11380
0.17479
0.40767
0.68068
0.18946
0.30842

0.11111
0.113

C.20429
0.47130
0.03608
0.07608
0.130

0.32998
0.23370
0.09197
0.24148
0.468

0.35642
0.39418

Power_ 2 Porwer_3

0.55635
0.93193
0.40760
0.28673
0.09660
0.18782
0.23123
0.13172
0.13381

0.40644
0.830

0.42057
0.59709
0.06387
0.10542
0.151

0.32556
0.20654

Kok0.3

K"o.7

1=

1=
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03
03
0.3
0.3
0.3
0.3
0.3
0.3
0.3
03
0.3
03
0.3
0.3

Km
0.7

0.7
0.7
0.7
0.7
0.7
0.7
0.7
0.7
0.7

4.10

411

Kv,
0.1

01
01
01
0.5
05
05
0.5
0.5
0.7
0.7
0.7
0.7
0.7

K
01

01
01
0.1
01
0.5
0.5
0.5
0.5
0.5

0.2
0.5
01
0.2
0.1
0.2
0.5
0.1
0.2
0.1
0.2
0.5
01
0.2

0.1
0.2
0.5
0.1
0.2
01
0.2
0.5
0.1
0.2

P2
0.2

0.5
0.2
0.1
0.1
0.2
0.5
0.2
0.1
0.1
0.2
0.5
0.2
0.1

p2
01
0.2
0.5
0.2
0.1
0.1
0.2
0.5
0.2
0.1

Power |
0.10231
0.29329
0.12768
0.03797
0.10725
0.17818
0.34334
0.1 92
0.14142
0.37105
0.65666
0.93093

*0.48216

*0.48849

Power |

0.56387
0.84353
1.000
0.69809
0.69735
0.21264
0.28729
0.44444
**0.21622
0.26680

Power 2 Porwer 3

0.11011
0.29730
0.13614
0.06306
0.11512
0.19019
0.35435
0.11812
0.15015
0.38939
0.65966
0.93393
0.43744
0.53353

0.170
0.205
0.430
0.816
0.089
0.103
0.222
0.641
0.522
0.24373
0.483
0.810
0.706
0.759

Power 2 Porwei_3

0.57085
0.84284
1.000

0.72261
0.67067
0.21910
0.28328
0.45245
0.25528
0.24024

0.50152
0.752
0.993
0.81081
0.92693
0.10811
0.186
0.288
0.66366
0.45245

Kg,=0.3

KgE0.7
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N 4.12
2- 100
IC . o
03 01
03 01
03 01
03 01
03 05
03 05
03 05
03 05
03 05
03 07
03 07
03 07
03 0.7
03 0.7
413
«2-100
Ko, Ko.
0.7 01
0.7 0.1
0.7 01
07 01
07 05
07 05
0.7 05
07 05
07 05

0.2
0.5
0.1
0.2
0.1
0.2
0.5
0.1
0.2
0.1
0.2
0.5
0.1
0.2

0.2
0.5
0.1
0.2
0.1
0.2
0.5
0.1
0.2

P2
0.2

05
0.2
01
01
0.2
05
0.2
0.1
0.1
0.2
05
0.2
0.1

0.2
05
0.2
0.1
0.1
0.2
0.5
0.2
0.1

Power |
0.10376
0.21421
0.11257
0.05183
0.04671
0.13171
0.24725
0.04291
0.11394
0.20858

*0.51976
0.81181

*(0,29559
0.40122

Power |

*¥*0.64925
0.97097
**0.51481
0.52613
*¥*0.12768
*¥*0.19219
*0.28829
*¥*0.13530
0.18492

Power_2 Poiwer_3

0.11712
0.22923
0.12916
0.06206
0.05550
0.13413
0.22623
0.04743
0.12713
0.17528
0.46847
0.77978
0.22805
0.39397

0.17200
0.16000
0.22322
0.72645
0.05706
0.102
0.188
0.340
0429
0.15960
0.360
0.677
0.40120
0.65666

Power 2 Porwer_3

0.69442
0.97793
0.58078
0.56650
0.17212
0.24061
0.36510
0.20803
0.19898

0.54955
0.904
0.51202
0.82828
0.06219
0.105
0.180
0.32232
0.38516

Kq0.3 ,«1=50

Ko=0.7 ,«1=50
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4.14
1= 2=300
K, Kv,
0.3 0.1
0.3 0.1
0.3 0.1
0.3 0.1
0.3 0.1
0.3 0.1
0.3 0.5
0.3 0.5
0.3 0.5
0.3 0.5
0.3 0.5
0.3 0.5
0.3 0.5
0.3 0.5
0.3 0.7
0.3 0.7
0.3 0.7
0.3 0.7
0.3 0.7
0.3 0.7
0.3 0.7
0.3 0.7
0.3 0.9
0.3 0.9
0.3 0.9
0.3 0.9
0.3 0.9
0.3 0.9
0.3 0.9

Pi
0.05
01
0.2
0.5
0.1
0.2
0.05
0.1
0.2
0.5
0.1
0.2
0.05
0.5
0.05
0.1
0.2
0.5
0.1
0.2
0.05
0.5
0.1
0.2
0.5
0.1
0.2
0.05
0.5

p2
0.05

01

0.2

0.5
0.2

01

0.05
0.1

0.2

0.5

0.2

0.1

0.5
0.05
0.05
0.1

0.2

0.5

0.2

0.1

0.5
0.05
01

0.2

0.5

0.2

01

0.5
0.05

Power |

0.10079
0.20846
0.17818
0.75576
0.20921
0.18127
0.11931
0.17918
0.42342
0.72873
0.24625
0.28929
0.15943
0.33601
0.54087
0.82882
0.98398
1.00000
0.90490
0.94094
+0.80525
0.89089
1.00000
1.00000
1.00000
1.00000
1.00000
1.00000
0.99399

0.13113
0.21922
0.17718
0.75678
0.20220
0.21221
0.12913
0.17618
0.41642
0.73173
0.23123
0.28729
0.15916
0.32733
0.53353
0.81481
0.98398
1.00000
0.88288
0.94394
0.72072
0.89289
1.00000
1.00000
1.00000
1.00000
1.00000
0.99390
0.99470

Power_2 Porwer_3

0.23123
0.37100
0.49800
0.57600
0.92200
1.00000
0.13000
0.18700
0.29200
0.56200
0.99000
0.96800
1.00000
1.00000
0.36600
0.67900
0.94800
1.00000
0.99000
1.00000
1.00000
1.00000
0.996

1.000

1.000

1.000

1.000

1.000

1.000

K03
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415
«1= 2=300
Ko, Kos
0.7 0.1
0.7 0.1
0.7 0.1
0.7 0.1
0.7 0.1
0.7 0.1
0.7 05
0.7 05
0.7 05
0.7 05
0.7 05
0.7 05
0.7 05
0.7 05
0.7 0.9
0.7 09
0.7 09
0.7 0.9
0.7 0.9
0.7 0.9
0.7 0.9

Pt
0.05
0.1
0.2
0.5
0.1
0.2
0.05
0.1
0.2
0.5
0.1
0.2
0.05
0.5
0.1
0.2
0.5
0.1
0.2
0.05
0.5

p2
0.05
0.1

0.2
05
0.2

0.1
0.05
0.1

0.2

05

0.2

0.1

0.5
0.05
0.1

0.2

0.5

0.2

0.1

05
0.05

Power_|

0.80247
0.97180
0.99900
1.00000
0.99099
0.99698
0.28586
0.47848
0.67868
0.88689
0.53253
*0.58559
**0.39540
*0.48947
0.70971
0.92492
0.98999
*(.84885
**0.79179
*0.74675
**0.57357

Power_2 Poiwer 3

0.81281
0.96396
0.99900
1.00000
0.98999
0.99199
0.28028
0.46246
0.66867
0.88989
0.54655
0.54454
0.46146
0.39339
0.70030
0.92292
0.98999
0.79448
0.83350
0.51952
0.74655

0.79659
0.97900
1.00000
1.00000
1.00000
1.00000
0.16500
0.29300
0.50500
0.76700
0.99800
0.95C00
1.00000
1.00000
0.52200
0.80000
0.96300
0.96600
0.99500
1.00000
1.00000

Kox0.7
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